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QUESTION 1
Which two are true about instance recovery? (Choose two.)
A. It is not possible if an archived log is missing.

B. It is performed automatically after the database is opened; however, blocks requiring recovery are not available until
they are recovered.

C. Setting FAST_START_MTTR_TARGET to a lower value reduces instance recovery time by causing dirty buffers to
be written to disk more frequently, thereby reducing the number of I/Os needed during instance recovery.

D. It is performed by the Recovery Writer (RVWR) background process.

E. Setting FAST_START_MTTR_TARGET to a higher value reduces instance recovery time by causing the log writer to
write more frquently, thereby reducing the number of 1/0s needed during instance recovery.

F. It is performed automatically while the database remains in MOUNT state. Then the database is opened.

Correct Answer: CF

QUESTION 2

Which three are true about Automatic Workload Repository (AWR)? (Choose three.)

A. By default, AWR snapshots are taken every 60 minutes.

B. Its collection level is determined by the value of the STATISTICS_LEVEL database parameter.
C. By default, AWR snapshots are retained for 7 days.

D. The taking of AWR snapshots can be disabled.

E. AWR data is stored in the SYSTEM tablespace.

Correct Answer: ABD

Reference: https://docs.oracle.com/cd/B28359_01/server.111/b28320/initparams240.htm#REFRN10214

QUESTION 3

Which two are true about a read-only Oracle home? (Choose two).

A. Itis enabled by performing a software-only Oracle Database installation and then running the roohctl -enable script.
B. It requires the Rapid Home Provisioning service.

C. Its configuration data and log files reside in subdirectories under the Oracle home.
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D. It is enabled by performing an Oracle Database installation with database creation and then running the roohctl
-enable script.

E. It contains an image that can be distributed across multiple servers.

Correct Answer: AE

QUESTION 4

Which three RMAN persistent settings can be set for a database?
A. backup retention policy

B. default backup device type

C. default section size for backups

D. default destinations for backups

E. multiple backup device types for a single backup

Correct Answer. ABD

QUESTION 5

Which two are true about RMAN duplexed backup sets? (Choose two.)

A. They can be written only to disk.

B. They must be written to media.

C. They can be created by using the RMAN CONFIGURE command to specify duplexing before taking a backup.
D. They can be created only by using the COPIES option of a BACKUP command.

E. They can be written to media.

Correct Answer: CE

CE - Correct

A. They can be written only to disk. - not only

B. They must be written to media. - not must

C. They can be created by using the RMAN CONFIGURE command to specify duplexing before taking a backup. - true
D. They can be created only by using the COPIES option of a BACKUP command. - not only

E. They can be written to media. - true
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QUESTION 6

Which two statements are true about Resource Manager plans for individual pluggable databases (PDB plans) in a
multitenant container database (CDB)?

A. If no PDB plan is enabled for a pluggable database, then all sessions for that PDB are treated to an equal degree of
the resource share of that PDB.

B. In a PDB plan, subplans may be used with up to eight consumer groups.

C. If a PDB plan is enabled for a pluggable database, then resources are allocated to consumer groups across all PDBs
in the CDB.

D. If no PDB plan is enabled for a pluggable database, then the PDB share in the CDB plan is dynamically calculated.

E. If a PDB plan is enabled for a pluggable database, then resources are allocated to consumer groups based on the
shares provided to the PDB in the CDB plan and the shares provided to the consumer groups in the PDB plan.

Correct Answer: AE

QUESTION 7

Which two are true about RMAN image copies? (Choose two) A. They can only be written to disk.
B. They can be encrypted using Transparent Data Encryption (TDE).

C. They can be used as a level 0 incremental backup.

D. They can be used as a level 1 incremental backup.

E. They are the only backup option available for databases in NOARCHIVELOG mode.

Correct Answer: AC

QUESTION 8

Unified auditing is enabled in your database. The HR_ADMIN and OE_ADMIN roles exist and are granted system
privileges.

You execute the command:

SQL>CREATE AUDIT POLICY table_aud PRIVILEGES CREATE ANY TABLE, DROP ANY TABLE ROLES hr_admin,
oe_admin;

Which statement is true?

A. It succeeds and needs to be enabled to capture all SQL statements that require either the specified privileges or any
privilege granted to the HR_ADMIN or OE_ADMIN role.

B. It fails because the command does notspecify when the unified audit policy should be enforced.

C. It succeeds and starts capturing only successful SQL statements for all users who have either the specified privileges
or roles granted to them.
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D. It fails because system privileges cannot be granted with roles in the same audit policy.
Correct Answer: A
After you create the policy, you must enable it by using the AUDIT statement.

AUDIT POLICY { policy_auditing } [WHENEVER [NOT] SUCCESSFUL];

QUESTION 9

Examine the RMAN commands:

RMAN> CONNECT TARGET "sbu@prod AS SYSBACKUP";
RMAN>CONNECT AUXILIARY "sbu@dup_db AS SYSBACKUP";

RMAN >DUPLICATE TARGET DATABASE TO dup_db

FROM ACTIVE DATABASE

PASSWORD FILE

SECTION SIZE 400M;

Which statement is true about the DUPLICATE command?

A. It succeeds and creates multisection backup sets that are used for active database duplication.
B. It fails because no parallel channels are allocated for the auxiliary database.
C. It succeeds only if the target database is in MOUNT state.

D. It fails because there is no connection to a recovery catalogue.

Correct Answer: A

QUESTION 10
Which two are true about backup encryption? (Choose two).

A. The Transparent Data Encryption (TDE) keystore is backed up using RMAN.

B. Vendor-specific media management software can be used for making encrypted RMAN backups to media.

C. The BACKUP BACKUPSET command can encrypt and decrypt backup sets.
D. Image copies can be encrypted.

E. Keystore-based encryption is the default mode for RMAN backup encryption.
F. Backup encryption can be enabled selectively for specific tablespaces.

Correct Answer: CE
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QUESTION 11

SQL Performance Analyzer (SPA) has reported several regressed SQL statements for one of your databases.
Which action could help in the performance management of these regressed SQL statements?

A. Create SQL plan directives for each of the regressed statements.

B. Use The SQL Tuning Advisor for each of the regressed statements.

C. Create an adaptive execution plan for each of the regressed statements

D. Use the SQL Access Advisor for each of the regressed statements.

Correct Answer: B

QUESTION 12

Which three actions are performed by the Oracle Preinstallation RPM, oracle-database-server-xxxx-preinstall, for Oracle
Grid Infrastructure, where xxxx is the Oracle version and release? (Choose three.)

A. performing checks to ensure minimum configuration requirements for Oracle Grid Infrastructure are met

B. creating the oracle OS user

C. creating the OSDBA (dba) group

D. creating thte oralnventory (oinstall) group

E. creating the grid OS user

F. configuring the OS for Oracle Automatic Storage Management shared storage access

Correct Answer: BCD

When installed, the Oracle Preinstallation RPM does the following: Automatically downloads and installs any additional
RPM packages needed for installing Oracle Grid Infrastructure and Oracle Database, and resolves any dependencies

Creates an oracle user, and creates the oralnventory (oinstall) and OSDBA (dba) groups for that user As needed, sets
sysctl.conf settings, system startup parameters, and driver parameters to values based on recommendations from the

Oracle Preinstallation RPM program Sets hard and soft resource limits Sets other recommended parameters,

depending on your kernel version Sets numa=off in the kernel for Linux x86_64 machines. Reference:
https://docs.oracle.com/cd/E11882_01/install.112/e41961/prelinux.htm#CWLIN2932

QUESTION 13
Which three are performed by Oracle Automatic Storage Management (ASM) instances? (Choose three.)
A. mounting disk groups

B. managing Allocation Units (AUs) for disk group content
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C. managing extent allocation for Oracle database segments

D. acting as an I/O server to write data file blocks to ASM disks on behalf of Database Writer processes (DBWn)
E. managing space allocation for Oracle ASM files

F. acting as an 1/O server to read data file blocks from ASM disks on behalf of database server processes
Correct Answer: ABE

Reference: https://docs.oracle.com/cd/E11882_01/server.112/e18951/asmcon.htm#OSTMG94057

QUESTION 14

Which three are true about Recovery Manager (RMAN) active database duplication? (Choose three)

A. Pre-existing backups of the database to be duplicated are required for the "push” method of duplication.
B. Pre-existing backups of the database to be duplicated are required for the "pull" method of duplication.
C. Pre-existing backups of the database to be duplicated are always used if they exist.

D. Image copies can be used to duplicate the active database.

E. The active database must be duplicated while in OPEN state.

F. No connection to the recovery catalog is required for active database duplication.

G. Backup sets can be used to duplicate the active database.

Correct Answer: DFG

QUESTION 15

Your database is in ARCHIVELOG mode and you plan to use Flashback Database.

Which two features or parameters manage space availability in the fast recovery area? (Choose two.)
A. the archived log deletion policy

B. the backup optimization policy

C. the backup retention policy

D. using guaranteed UNDO retention

E. the DB_CREATE_ONLINE_LOG_DEST_n parameter setting

F.the DB_RECOVERY_FILE_DEST parameter setting

Correct Answer: AC

RMAN automatically manages files in the fast recovery area by deleting obsolete backups and archiving files no longer
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required for recovery. https://docs.oracle.com/en/database/oracle/oracle-database/18/ssdbi/about-the-fast-recovery-
area-and-the-fast-recovery-area-disk-group.html#GUID-05343E2B-24CF-427E-A068-9AC2104BEF81

170-083 PDF Dumps 170-083 VCE Dumps 170-083 Study Guide

170-083 PDF Dumps | 120-083 VCE Dumps | 1Z0-083 Study Guide 8/8


https://www.pass4itsure.com/1z0-083.html
https://www.pass4itsure.com/1z0-083.html
https://www.pass4itsure.com/1z0-083.html
http://www.tcpdf.org
https://www.pass4itsure.com/1z0-083.html
https://www.pass4itsure.com/1z0-083.html
https://www.pass4itsure.com/1z0-083.html

